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The 5 km of highway between City X and
City Y is closed. There are two possible

detour routes: one through Town A and one

through Town B, as shown in the diagram
below.

Town A

12km

Gity X Gity Y
&/3km
Town B

How much shorter is the detour through
Town B than the detour through Town A?

a 7km
b 9km
¢ 16km
d 18km
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The container pictured below is made up of
a cone and a cylinder. The cone and the
cylinder have the same height.

fe—12cm —t

Which of the following is closest to the
volume of the container?

a 2261 cm? ¢ 3393cm?
b 3016 cm® d 4524 cm®
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Gertrude sells shoes.

Her total pay each week is made up of a
base salary and a commission of 15% of
her sales that week.

One week, her total pay is $167.50 and she
has $850 in sales.

Which equation below represents the
relationship between her total pay, P, each
week and sales, s?

a P=I5s

b P=40+0.15s

c P=850+0.155

d P=167.50 + 0.15s
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Which of the following shows data from a
non-linear relation?
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[l What is the value of P in the equation below
when r=—~77

a0 o
L
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‘Which of the following is a simplified form
of the expression 4(5x — 8) — 3(2x — 7)?

a l4x—11
b 14x—53
c 26x—11
d 26x-53
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The equation of a line is 5x — 2y + 10

Which of the following expresses this
equation in the form y = mx + b?

a y=3x+5
b y=3x+10

c y=-3x+5

d y=-3x+10
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0] Jared uses the equation C

30n to determine

the cost, C, in dollars, for renting a car for n
days, where n is a whole number.

If Jared can spend a maximum of $200 on the
rental, which of the following describes the

possible values of n?
a 7,89,
b 67,89,
c 0.1,23,456
d 0,1,2,3,456,7
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) The sum of the interior angles of a polygon
is 2700°.

How many sides does the polygon have?
a 19

b 17

c 15

d 13
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@ Healthy Fish

James adds vitamin drops to his fish tank to keep his fish healthy.

If James follows the instructions on the bottle of vitamins,
how many capfuls should he add to his
350-litre fish tank?

Show your work.

« 2 drops per 5 litres
of water

* 1 capful = 40 drops
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@ Diamond Cut
‘The diagram below shows a regular decagon and three isosceles triangles.

Determine the values of x and y. Justify your answers using geometric properties.

Justiication using geometric properties
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B More Money, Please!

‘The graph below shows information about the amount of money, 4, in Shreya’s bank account and
the number of months, , she has had the account.

Amount of Money in Account
‘vs. Number of Months

120

110

g
1

Amount of money in account (§)
8 8 8§ 8 3 3 8 8

2

°

2 3 4 5 6 7 8
Number of months

Draw the line of best fit for the data.
Determine the equation of your line of best fit.

Show your work.
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Movie Night

‘There are two payment options for downloading movies from a Web site.
« Option A: Pay $30 for a membership and $2 per movie downloaded.
« Option B: Shown on the grid below.

( Total Costs. Number of Movies

Option B

Total cost (§)

BRBR 8 SEEER8 B2

s

-

0 123456789101
Number of movies

Determine under which conditions a person should seleet
Option A and under which conditions a

person should select Option B.

Justify your answer.
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What goes in the [] to complete

the equation below?
&) = 247
a 3
b 3
¢ 167
d 16




image2.png
B A cellphone company offers four choices for
purchasing talk time.

Which of the following has the lowest cost
per minute?

a 200 minutes for $24.50

b
c
d
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Marc has a garden that is made up of three
square sections. He builds a fence on one

side of the garden as shown below.

a

b
c
d

Which of the following is closest to the
length of the fence, 17

19.7m
106m
99m
63m




image4.png
What is the value of x in the equation

—4(2x — 1) =367
a -4
3
b -3
3
c -F
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B The total yearly cost of a museum
‘membership is made up of a fee of $25,
plus $5 per visit.

Which graph best represents the
relationship between total yearly cost, C,
and number of visits, n?

c ¢ C





